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Al 190,505
301 LEEHZ 272,150 246,850 25,300
& 81,645
Al 190,505
02 MBI EEE2ES(HLHS, KNEWHA) 272,150 0 272,150
O SSAX =0HIs XA
272,150,000 %14l 272,150
= 81,645
Al 190,505
(Z) IS XIAIE S AKX 660,240 678,000 A17,760
= 198,072
Al 462,168
301 EtEdEZ 660,240 678,000 A17,760
& 198,072
Al 462,168
02 ASIEEEES(FHLHS, NEWA) 660,240 0 660,240
OLEXAIE SAL = XI&
660,240,000& * 14! 660,240
= 198,072
Al 462,168
(D) QS XIAE SAIG EXEUE XA 51,100 0 51,100
= 15,330
Al 35,770
307 212t01& 51,100 0 51,100
& 15,330
Al 35,770
11 MaI=XAIEES 51,100 0 51,100
OLSXAE SAX SXEE XA
51,100,000 14] 51,100
= 15,330
Al 35,770
HofoI=X SE(AIIEX/FAUAHSKIH) 39,269,937 34,619,399 4,650,538
= 21,755,724
= 4,574,311
Al 11,523,800
= 1,416,102
HOoel=X S& 39,269,937 34,619,399 4,650,538
= 21,755,724
& 4,574,311
Al 11,523,800
= 1,416,102
ZOHISXIAIE X 334,262 291,722 42,540
201 L2 3FH| 63,762 57,222 6,540
01 At22teld| 63,762 57,222 6,540




A =QIE0HRI It
A ZOHRISXI SA(AEISXI/FAAHNSKIH)
=X

2l HOoHeI=X S& (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OXOHIRISREX 2
1,300 % 1055004 650
OB 228 L QEESE M
1,000,000 * 14! 1,000
O3 50IHE| &40 HIE
70,0002%53] 350
OSSR $2R2RAOIRA AAF 2E
100,000 *6%H* 123 7,200
OZXOHQICHH AtRA!l X2 XY
497 ,00024+8IH Ax 122 47,712
OXOHQIHOAI LA RF| 45
100, 000262 x23] 1,200
OXOHISXIBE RBA ATH HME
100,000 %354 3,500
OX0Hel MNSEXHT SHEXL 22| L 22|
80,0002 %1074 A 800
OXOHQIZE= X2 DIZIRIEISAH A2 3]
1,350
—&8xd 100, 00024+ 10H*13] 1,000
—&S0l 70,0002 *5H*13] 350
301 YeHEAS 8,500 8,500 0
02 ALBI 2 EE 2GS (FAHS, KLY 8,500 8,500 0
O0AZIOl SAXIRS XIS 8,500
—Z0 I AlE O R OfO!
1,500,0002 %32 4,500
— 0l HEO AGHKI 22 OJA=oHQ!
1,000,0002*4% 4,000
307 212+0|& 227,000 210,000 17,000
10 AIBIS XA EHAESAHIE X 190,000 175,000 15,000
OZZHQ 0ISAIY XIY(EXE HY)
50,000,0002* 174 A 50,000
OZHQI=XZ2 2YAIY XY (EXS HH)
85,000,000 %174 A 85,000
OAFZOHQ! HHOISAIY XY (2XRE HA)
55,000,000 x 174 A 55,000
11 ALBIE XA ER 37,000 35,000 2,000
OAIZEOHO! THEMHIAAR (BEE RoH)
9,000,0002* 174 A 9,000
OL0SAHE $=0na 2H(EXS FY)
8,000,000 %1744 8,000
OFOL! HA Jzns N (BES HH)
20,000,000 * 174 A 20,000
401 Al&H| 2 S HY 16,000 16,000
01 Al&H] 16,000 16,000 0
OXHL! HELSET SSEMA &1
8,000,000 *20H A 16,000
402 QI2ERH=0|E 19,000 0 19,000




S LoIFOfoIDt
o FOHOI=K ST (MI=X/FHAHSE)

Rl RIS S (CHo|: M)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
01 QI2ZENEAMLE X (X)) 19,000 0 19,000
OHLTONY SXXY PEHBAL(BES FH)
19,000, 000& *14] 19,000
ORI NE XA 3,840 2,880 960
301 LEEBHZ 3,840 2,880 9%60
11 HARHIXIRZ 3,840 2,880 9%60
OXfelus &A oyl K& 3,840
—HOHIXIEX s A o]
120,000 *16H 1,920
—ZoieI=X2E ws &4 ol
120,000& = 16Y 1,920
ZHOHQIHALKI 103, 160 72,120 31,040
301 LESBHZ 8,160 6,120 2,040
11 HARHIXIRZ 8,160 6,120 2,040
O OfRIMA EA o] K& 8,160
—Z0Helel & AL EA (|
120,000 *16H 1,920
—H0oHeIALlE &4 odd]
120,000& = 16Y 1,920
—ZOHRITHE S RICHS] &4 Ol
120,000 *16H 1,920
—ZojQICHYR H3E BA Ol
120,000&x20H 2,400
307 2I2H0| A 95,000 66,000 29,000
11 MII=XAIEER 95,000 66,000 29,000
ORI & JEHAHBEEZE HNH)
19,000, 000& *14] 19,000
OZFAl HoHe! SHIISHISUHE(BEE HH)
20,000,000 %14 20,000
OQIEEOR HIDIB LAINEMA(BEE FH)
3,000,000 *14! 3,000
OXIME I NHAAMUS(BEE FH)
11,000,000 *14] 11,000
OEXZ0|e & HAHEZTE HNH)
4,000,000 14 4,000
OX=LLFONR! XAl F=HUS(EES 80%)
6,250,000 *141%80% 5,000
OAIEFOR EXIUE L HAMOIL(EZE BH)
4,000,000 14 4,000
OG Al ZOHeIEal A3t ALY 29,000
—AZHROHQ AT A (PES M)
4,000,000 14 4,000
—=010] A3 A (BEXE FH)
4,000,000 14 4,000
—TOjQIHB S AU A (BEE H)
3,500,000 14 3,500




2A:

K ZH

L OIEOHOID

ot
ZONRI=R SE(AEISKI/HUHEXH)
=X

el Zojel=sA S& (Crel: & 2l)
S - BE - S9(S) - HIRAKY - BES Ol &k Gl HImE=2t
—SOIZZEE AZLS A (BXE FH)
3,500,0002* 14! 3,500
—DER0NIHS AZAS A (SES FH)
3,500,00021* 14! 3,500
—HAROIIBS AZAS A (BES FHN)
3,500,00021* 14! 3,500
— BRI A B S| ASASH A (BEE
JoH) 3,500,000 %14 3,500
—AHIEONISXIS AHBAS AA(BEE FH)
3,500,00021* 14! 3,500
S TIB =Bl 1,920 1,440 480
301 LPiENE 1,920 1,440 480
TEN T EE] 1,920 1,440 480
OFORRIIISAIITHS] &It ofH| X
120,00021%16% 1,920
ABIZ XA HRIA 75,600 75,600 0
301 LetE = 75,600 75,600 0
02 ABIEEELHS(FAAS, L) 75,600 0 75,600
OZONQIZRIAIL L S ALSI=XIZAR 2
140,000 %452 * 122 75,600
(2)HOHIAR XS (SXILXtel) 483,714 472,425 11,289
= 241,857
= 72,557
Al 169,300
307 91210/ & 483,714 472,425 11,289
= 241,857
= 72,557
Al 169,300
05 QIZERIES 483,714 472,425 11,289
ORI = XL Rt Al
483,714,0002 14! 483,714
= 241,857
= 72,557
Al 169,300
SRR EREICEEEE)) 650, 566 634,354 16,212
= 325,283
= 97,585
Al 207,698
101 Q124 649,246 634,354 14,892
= 324,623
= 97,387
Al 207,236
04 JIZH2 2RSS S 649,246 634,354 14,892
OZOHQI L BHE A T2 ALY
649,246,000 % 14! 649,246




2AM:
X{XH -
o /e

cH):

L OIE OOt
ZONRI=R SE(AEISKI/HUHEXH)
ZOjRI=K SE

(i}

A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 324,623
[ 97,387
Al 227,236
201 LB 1,320 0 1,320
= 660
[ 198
Al 462
01 AFRZH2IHI 1,320 0 1,320
OHOIX EE A2 X
1,320,000 % 14! 1,320
= 660
[ 198
Al 462
EENEEEINEIEREED) 162,652 158,626 4,026
= 81,326
[ 24,398
Al 56,928
101 Q14| 161,992 158,626 3,366
= 80,996
[ 24,299
Al 56,697
04 JI2AH2Z2XSES 161,992 158,626 3,366
OZXOHQILBH (AIZEA) LXI2IAY
161,992,000 %14 161,992
= 80,996
[ 24,299
Al 56,697
201 LB 660 0 660
= 330
[ 9
Al 231
01 AF222IHI 660 0 660
OZ0Xt Y& s XY
660,000 14! 660
= 330
[ 9
Al 231
ESREEENIE] 5,010,301 5,076,746 BB, 445
= 3,507,211
[ 450,927
Al 1,052,163
301 LBE A3 5,010,301 5,076,746 166,445
= 3,507,211
[ 450,927




2AM:
T ZH -
o /e

cH):

L OIE OOt
ZONRI=R SE(AEISKI/HUHEXH)
ZOjRI=K SE

(i}

SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 1,052,163
01 AFBSIBEESHS(2EEML) 5,010,301 5,076,746 66,445
O&oferAzg X2 5,010,301, 0002« 14! 5,010,301
= 3,507,211
[ 450,927
Al 1,052,163
()= (0I=) XI= 785,915 755,502 30,413
= 550, 141
[ 70,732
Al 165,042
301 LBIEAS 785,915 755,502 30,413
= 550, 141
[ 70,732
Al 165,042
01 AP EEE2FH2(2DEXE) 785,915 755,502 30,413
OZf=(I1x) X
785,915,000 * 14! 785,915
= 550, 141
[ 70,732
Al 165,042
()RS (XA S) X2 390, 127 399,738 9,611
= 273,089
[ 35,111
Al 81,927
301 LBtE A2 390, 127 399,738 9,611
= 273,089
[ 35,111
Al 81,927
01 AFSIBEESH2(2DEEMY) 390, 127 399,738 29,611
OZOR2=SH( AR X2l
390, 127,000 * 14! 390, 127
= 273,089
[ 35,111
Al 81,927
ERESNEERNE 10,625,463 7,981,880 2,643,583
= 7,437,824
[ 956,292
Al 2,231,347
307 Q1201 10,625,463 7,981,880 2,643,583
= 7,437,824
[ 956,292
Al 2,231,347
05 QIRtQEr2 10,625,463 7,981,880 2,643,583




e RIS el
I A=K S ARSI/ FHAAHSKI)
2l HOoHeI=X S& (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SEUEIESNEETIRES)
10,625, 463,000 *14! 10,625,463
= 7,437,824
& 956,292
Al 2,231,347
()ESEX RS0 80,987 76,622 4,365
= 56,691
= 7,289
Al 17,007
307 212t01 ™ 80,987 76,622 4,365
= 56,691
= 7,289
Al 17,007
05 RIZI?I& = 80,987 76,622 4,365
OROHQ HEBE IHH20H (HISH)
80,967,000+ 14! 80,967
= 56,691
= 7,289
Al 17,007
(2)LEHE M ALK XIR 379,472 343,777 35,695
= 265,631
= 34,153
Al 79,688
307 212t01 ™ 379,472 343,777 35,695
= 265,631
& 34,183
Al 79,688
05 QIZI?IE = 379,472 343,777 35,695
OE = WAL ESCGISSS)
379,472,000 * 14| 379,472
= 265,631
& 34,183
Al 79,688
(2)LETHFAESMEIAKIR 1,576,424 1,315,779 260,645
= 1,103,497
& 141,878
Al 331,049
307 eI2to| ™ 1,576,424 1,315,779 260,645
= 1,103,497
& 141,878
Al 331,049
05 QIZI?IE = 1,576,424 1,315,779 260,645
OLZHL! =2HES AL X2
1,576,424,000&x14] 1,576,424




e RIS el
I A=K S ARSI/ FHAAHSKI)
ol ZojelsX S (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 1,103,497
= 141,878
Al 331,049
(2) LML VS SSMEIAXIH 116,373 147,991 A31,618
= 81,461
= 10,474
Al 24,438
307 2I2t01 ™ 116,373 147,991 A31,618
= 81,461
< 10,474
Al 24,438
05 QIZIRIE= 116,373 147,991 /31,618
OBAW LTSN YUSHS MUIAKI
116,373,000 *14] 116,373
= 81,461
< 10,474
Al 24,438
(RVEHIEMNE 29 1,102 892 210
= 551
< 165
Al 386
301 LBtE2NS 1,102 892 210
= 551
< 165
Al 386
01 ALRIE2EE 4GS (S REXTHE) 1,102 892 210
OTMHE=HAMNE 22
1,102,000 *14] 1,102
= 551
< 165
Al 386
(2)ZOHRIZZIDIKI& 10,283 10,283 0
= 8,226
< 617
Al 1,440
301 LBtE2NS 10,283 10,283 0
= 8,226
= 617
Al 1,440
01 AlBI2E X3S (FLEXTHE) 10,283 10,283 0
OFOHR EXI101 X
10,283,00024%14! 10,283
= 8,226
= 617




Y HCCIE<{ <l
Y ZOHI=X BX(AEISX/FHAHEXR)
ol ZojelsX S (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| Al 1,440
(2)0IEZ Rl ZAHIEXE 2,400 3,000 600
= 1,680
= 216
Al 504
301 LBrENE 2,400 3,000 2600
= 1,680
= 216
Al 504
IEEEEES EIEREESTE) 2,400 3,000 2600
O EHHL E4tHIZ IR
800, 0008 +3% 2,400
= 1,680
= 216
Al 504
EENEEEEE] 109,944 148,944 239,000
= 87,955
= 6,597
Al 15,392
308 RIXISHHISOIX 109,944 148,944 239,000
2 87,955
= 6,597
Al 15,392
13 B2 SOICHEHE A E SIS AS L] 109,944 148,944 39,000
OZ0fe! 2lZH| X
109,944, 0008 14! 109,944
2 87,955
= 6,597
Al 15,392
(R)EEZLLHIF2HE T 1 228,822 0 228,822
2 114,411
= 34,323
Al 80,088
307 IZHOIX 228,822 0 228,822
2 114,411
= 34,323
Al 80,088
ENEETINEEES 228,822 0 228,822
OFEZLYRNRIFZIHE 11X
228,822,00024 %1044 228,822
2 114,411
= 34,323
Al 80,088
(E)EESEERXH 517,905 709,300 A191,395




Y HCCIE<{ <l
HH: TSR SH(ARISX/FHAASTH)
ol ZojelsX S (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 103,581
Al 414,324
307 BIZHOIA 517,905 709,300 191,395
= 103,581
Al 414,324
05 DIZtQIErS 517,905 709,300 191,395
OFOIBSEE 2t X
517,905,000& *14] 517,905
= 103,581
Al 414,324
(Z)HO0HIE BHOITHA 2L B3 2,39% 4,200 A 1,805
= 718
Al 1,677
301 LBHEXZ 2,3% 4,200 1,805
= 718
Al 1,677
02 ABIERESHB(HLHS, L) 2,3% 0 2,39
OFO0HQIS SIOIIARIL)| 23
2,395,00084% 14} 2,3%
= 718
Al 1,677
(E)soRISEAEQS= 10,954 15,647 14,693
= 1,643
Al 9,311
307 @I2+0I ™ 10,954 15,647 4,693
= 1,643
Al 9,311
DEENNEER=EE=TEES 10,954 15,647 4,693
OS0SR4 2SI
10,954,000 %1 4] 10,954
= 1,643
Al 9,311
EBNEENENEREEE 190,000 150,000 40,000
= 38,000
Al 152,000
307 QIZHOIX 190,000 150,000 40,000
= 38,000
Al 152,000
10 MBS ALY E 292 E 190,000 150,000 40,000
ORI ZOHAXIAME 2
190,000, 000241744 190,000
= 38,000
Al 152,000
B ENERNEESSIE 130,000 130,000 0




2AM:
PSE
o /e

cH):

L OIE OOt
ZONRI=R SE(AEISKI/HUHEXH)
ZOjeI=A S&

HEE

2A - HH . H(SH) - MRAIY - BES Of] &K Ol Ak ot Hws2t
= 26,000
Al 104,000
307 QI2H0| M 130,000 130,000 0
= 26,000
Al 104,000
10 AISISXAEEHER2IHIES 130,000 130,000 0
OZOIEHA XM 29
130,000,000 *1I9H 2 130,000
& 26,000
Al 104,000
(Z)HOHOI SN XA 603,000 563.000 20,000
= 120,600
Al 482,400
307 QI2H0| M 603,000 563,000 40,000
= 120,600
Al 482,400
10 AISISXAEEHER2IHIES 603,000 563,000 40,000
OLSAI L0 ASAIS
130,000,000 *1I9H 2 130,000
& 26,000
Al 104,000
OHOMNCIEBSIXI R A
95,000,000& 114 95,000
= 19,000
Al 76,000
OAIEF NI SEHAE A
60,000,000 *1JH A 60,000
& 12,000
Al 48,000
OXIHIZOHI O & KHe K& AHS
68,000,000& 1014 68,000
= 13,600
Al 54,400
OXIMZEOH IS XIKI& At
57,500,000 *1JH A 57,500
& 11,500
Al 46,000
OO HAXIAALS
52,500,000& 1014 52,500
S 10,500
Al 42,000
OF el Z 2 4 X|IR
45,000,000 10 A 45,000
& 9,000
Al 36,000




e RIS el
I A=K S ARSI/ FHAAHSKI)
ol ZojelsX S (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SEES ST EENE
95,000,000 * 174 95,000
& 19,000
Al 76,000
(DA 2 EHT ISR R AL 55,000 55,000 0
= 11,000
Al 44,000
307 212t01 ™ 55,000 55,000 0
& 11,000
Al 44,000
10 AlRIS XA EEE2EH 2 X 55,000 55,000 0
OLlEHEUINEXIZ AL
55,000,000 *1JH A 55,000
& 11,000
Al 44,000
(Z)AZAHE O THE A S ALY 52,500 50,000 2,500
= 10,500
Al 42,000
307 2I2t01 52,500 50,000 2,500
= 10,500
Al 42,000
10 ASISAANEHE2EEIEX 52,500 50,000 2,500
O&IME O THEH & E ALY
52,500,000 * 174 52,500
& 10,500
Al 42,000
(Z2)ANZEHOIIIEXNAME 2 170,000 160,000 10,000
= 34,000
Al 136,000
307 2I2t01™ 170,000 160,000 10,000
= 34,000
Al 136,000
10 ASISXAANEHE2EEIEX 170,000 160,000 10,000
OFOIIEXJNE 29
170,000,000 *1JH A 170,000
& 34,000
Al 136,000
(SN2 HHEOHRIAAAS A B ALY 12,500 0 12,500
= 2,500
Al 10,000
307 2I2t01 ™ 12,500 0 12,500
= 2,500
Al 10,000
10 ASISAANEHE2EEIEX 12,500 0 12,500




SA: EolEofel
I A=K S ARSI/ FHAAHSKI)
ol ZojelsX S (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SEEREI R == EESE
12,500,000 *1JH 2 12,500
& 2,500
Al 10,000
()L NED LRI AAS 10,000 0 10,000
= 2,000
Al 8,000
307 212t01 ™ 10,000 0 10,000
& 2,000
Al 8,000
10 AlRIS XA EEE2EH 2 X 10,000 0 10,000
OLLTHANEZ SN AHAS
10,000,000 *1JH A 10,000
& 2,000
Al 8,000
()AL EOHR! AISIEOIEHXIA 83,186 81,447 1,739
= 58,230
& 7,486
Al 17,470
307 2I2+0| ™ 83,186 81,447 1,739
= 58,230
& 7,486
Al 17,470
10 AlRIS XA EEE 282X 83,186 81,447 1,739
OO0 AtEHETH X
83,186,000& 14 83,186
= 58,230
& 7,486
Al 17,470
(2)ZOHUAFAIE JISEZ 21,100 17,820 3,280
= 10,550
& 7,403
Al 3,147
402 BIZtAH=01 M 21,100 17,820 3,280
= 10,550
= 7,403
Al 3,147
02 BIZAHE ARG 2 (01X THS) 21,100 17,820 3,280
OZOR! HFAIE JISEZ(EESH)
21,100,0002 %10 2 21,100
= 10,550
= 7,403
Al 3,147
(DHUQLAE 2EXA 2,485,000 2,340,000 145,000




e RIS el
I A=K S ARSI/ FHAAHSKI)
ol ZojelsX S (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 1,739,000
= 746,000
307 2I2+0| ™ 2,485,000 2,340,000 145,000
= 1,739,000
= 746,000
10 AlRIS XA EEE 282X 2,485,000 2,340,000 145,000
O&FQIANE 2¢
2,485,000,000& %14 2,485,000
= 1,739,000
& 746,000
()BOHANFAIE 22 X 8,299,973 7,130,686 1,169,287
= 5,809,981
= 746,998
Al 1,742,994
307 2I2t01 8,299,973 7,130,686 1,169,287
= 5,809,981
& 746,998
Al 1,742,994
10 AlRIS XA EEE 2SI 2 X 8,299,973 7,130,686 1,169,287
OHO HFAIE =28
8,299,973,000& 14 8,299,973
= 5,809,981
& 746,998
Al 1,742,994
() ZHAAFAIE SOIZEIIERZ 1,882 3,763 A 1,881
= 1,129
< 226
Al 527
307 2I2+0| ™ 1,882 3,763 A1,881
= 1,129
< 226
Al 527
11 ARRISXIMEEES 1,882 3,763 A1,881
OFOUNFAIE SOIFED| elg X2
941,000 *2J4 2= 1,882
= 1,129
< 226
Al 527
(Z)ZOHHFAILEI AT MEH R F KA 10,000 10,000 0
& 3,000
Al 7,000
301 Let2d= 10,000 10,000 0
= 3,000
Al 7,000




e RIS el
I A=K S ARSI/ FHAAHSKI)
ol ZojelsX S (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 ARSI 2 HE LGS (FIAAS, XL 10,000 0 10,000
OZONQIHFAIL EIAT MRS H22
10,000,000&*1& 10,000
& 3,000
Al 7,000
(2)SSTHANS X2 HH 2L A 238,483 229,955 8,528
= 38,157
Al 200,326
307 212t01& 238,483 229,955 8,528
< 38,157
Al 200,326
05 QIZIRIE = 238,483 229,955 8,528
OSSTMY NEXN2HE =23
238,483,000« 142~ 238,483
< 38,157
Al 200,326
(Z)MBISXRIANESA RS 60,480 65,520 A5,040
= 18,144
Al 42,336
301 Et2AS 60,480 65,520 5,040
& 18,144
Al 42,336
02 ALRI2EE LGS (FIAAS, NLTH) 60,480 0 60,480
OAEISXAESA=S (B QAAIL)
140,000 36812 60,480
& 18,144
Al 42,336
(Z) AR ZE XA ESAME R ZIEXR 3,600 0 3,600
= 1,080
Al 2,520
307 212t01 ™ 3,600 0 3,600
= 1,080
Al 2,520
11 ARRISXAIAMEEES 3,600 0 3,600
OAEISXIAIESANSXZAEX A (FAQAAIL)
100,000 %36 3,600
& 1,080
Al 2,520
(Z)HOHI=SXIAIE SAR =2 399,840 389,760 10,080
= 119,952
Al 279,888
301 Et2MS 399,840 389,760 10,080
= 119,952
Al 279,888




2AM:

K ZH

L OIEOHOID

ot
ZONRI=R SE(AEISKI/HUHEXH)
=x

ol ZojelsX S (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 ARSI 2 HE LGS (FIAAS, XL 399,840 0 399,840
OBOHQISTIAIL BAR 42
140,000 x238E* 123 399,840
& 119,952
Al 279,888
(Z)HOHISXIANE SNSRI ZAEX R 23,800 0 23,800
= 7,140
Al 16,660
307 212t01& 23,800 0 23,800
S 7,140
Al 16,660
11 ARISXIAMEEES 23,800 0 23,800
OHHAUSXIAIE SAA SXZIEXH
100,00021+238% 23,800
< 7,140
Al 16,660
(Z)ZOHATHIIES RIS AHIEH 2SR 137,800 133,333 4,467
= 20,670
Al 117,130
307 212t01 ™ 137,800 133,333 4,467
& 20,670
Al 117,130
10 AlRIS XA EEE2EH 2 X 137,800 133,333 4,467
OZMHATHIIEXSAKIE =24
137,800,000 14 137,800
& 20,670
Al 117,130
(Z)EHRIFUESAIE2Y 425,198 373,742 51,456
= 72,284
Al 352,914
307 212t01 ™ 425,198 373,742 51,456
= 72,284
Al 352,914
10 ASISAANEHE2EEIEX 425,198 373,742 51,456
OZeI=UESAIE 2
425,198,000 x14] 425,198
& 72,284
Al 352,914
(D)ANZZoHRIESE=X22d 1,446,102 1,336,740 109, 362
= 30,000
= 1,416,102
307 212t01 ™ 1,446,102 1,336,740 109, 362
= 30,000

4

1,416,

102




SA: =OIEOfOI Dt
HH: TSR SH(ARISX/FHAASTH)
ol ZojelsX S (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
05 DIRIQIERS 1,446,102 1,336,740 109,362
O za=12 2%
1,446,102,0002* 14! 1,446,102
= 30,000
= 1,416,102
S ENREENSNERTE 234,325 244,089 A9, 764
= 46,865
Al 187,460
307 QIZHOIA 234,325 244,089 19,764
= 46,865
Al 187,460
10 ABISALEE 2SI 2 E 234,325 244,089 29,764
OFOHIMEOISXIRHE 2
234,325,00024 %14} 234,325
= 46,865
Al 187,460
(Z)S0SHME 2 254,634 236,573 18,061
= 43,288
Al 211,346
307 QIZHOIX 254,634 236,573 18,061
= 43,288
Al 211,346
DEENNEER=EE=TEES 254,634 236,573 18,061
O+0|SHHEH 2
254,634,00024 %104 A 254,634
= 43,288
Al 211,346
B ENEESEENEEE 1,389, 152 1,406,159 AT7,007
= 194,481
Al 1,194,671
307 IZHOIX 1,389, 152 1,406,159 AT7,007
= 194,481
Al 1,194,671
DREENNEEEEETEES 1,389, 152 1,406,159 AT7,007
OFOHAXATHEAIE 2
1,389, 152,0002!* 14! 1,389, 152
= 194,481
Al 1,194,671
(Z)EOHLIHFAIE MEIAXIA 25,610 25,350 260
= 7,683
Al 17,927
307 IZHOIX 25,610 25,350 260
= 7,683
Al 17,927




S IRl
M FHOHQISK SA(ASISR/FAHSK)
el Zojel=sA S& (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
ABISTIAII E & 25,610 25,350 260
OFOHQIAMBAIE UAR SXIMHIAKI
130,0002%197 25,610
[ 7,683
Al 17,927
(D) HHUIAFAIE 2 350,071 339,230 10,841
[ 70,014
Al 280,057
307 BIZHOIA 350,071 339,230 10,841
[ 70,014
Al 280,057
10 AFBISRAISHE 2 B X 350,071 339,230 10,841
ORAAFAIE 2
350,071,00024% 10§ A 350,071
[ 70,014
Al 280,057
() ZOHAUHFAILOIS NI A NS 2,772 2,700 72
[ 831
Al 1,941
307 BIZHOIA 2,772 2,700 72
[ 831
Al 1,041
11 A= RAIE B X 2,772 2,700 72
OZOUIHFAIA 01X 1A W
308, 0002 *97H 4 2,712
[ 831
Al 1,041
BERENEENEES 480,508 400,060 80,448
[ 9, 101
Al 384,407
307 BIZHOIA 480,508 400,060 80,448
[ 9, 101
Al 384,407
10 AFBISXIAIZEE 2RI B X 480,508 400,060 80,448
ORI HFAIL 29
480,508, 00024% 10§ A 480,508
[ 9%, 101
Al 384,407
(Z)ZA QAL AR HE | 8,840 9,100 A260
[ 2,652
Al 6,188
307 BIZHOIA 8,840 9,100 260
[ 2,652
Al 6,188




S L QIEOHRI D
NI HOfISK BA(AZIER/FAHSKI)
Rl RIS S (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
IEENNEEES 8,840 9,100 1260
OFAQUAIMAAR} oot K|
65,0002 136H 8,840
[ 2,652
Al 6,188
A S| (L OIZHOHOI D) (DIEH JIEH) 156, 196 133,715 22,481
REEX=ET 56,592 52,981 3,611
olz29] 56,592 52,981 3,611
101 Q124 56,592 52,981 3,611
03 2R (RI|HL)22XES 56,592 52,981 3,611
OZLE(PIHL) 22X B2 56,592
-Jle=s638) 2,148,560 12122 25,783
—ZERIIHI 2,148,5602 * 12#25|%75% 3,223
—d2=4 2,148,5602 * 124*25]x15% 645
—IIESY (IR
40,0002+ 12128 480
— A2 2Rast
12,9702 % 150%+ 15 A1 2Hx 12 128 3,502
—§2U225E
103, 7602 % 150%+ 12 %1192 18,522
— IR EIIE 103,760 %124+ 152 1,557
—JHZAl| 140,000+ 1S+ 12 1,680
—uS2E 2| 100,000+ 18122 1,200
J|=ZH| 99,604 80,734 18,870
J1=ZH| 99,604 80,734 18,870
201 L2 A 27,484 21,094 6,390
01 AFR22IHI 27,484 21,094 6,390
O=ARK 7 20,0002 % 172122 4,080
OS2 044 8,000 *7 A% 1712 11,424
oLtz 10,0002 % 122 1,200
OARZ TARYH 50,00081% 12 600
OARL 24 8,140
—S AP =2l 1,000,000 *1CH 1,000
—HelEI| 100, 0004 *4CH#50/100 200
—=AD| EYH 200,000& %53 *1CH 1,000
—ZRIEDI(EY) EY
200,000 %53 *4CH 4,000
—Z2IEDI(~Za) EY
200,000 %53+ 1CH 1,000
—PC =l 100,000 *17CH*20/100 340
—J|Etelt] 50,0002+ 12 600
OJIEF At 22| 10,00094% 17 * 122 2,040
202 Ot 67,320 55,440 11,880
01 2LH0IH 67,320 55,440 11,880




A QIEOHRI It
HE: HHSAHAH|( = QIFOHQI ) (IIEHIIE
&e: J|E238h| (cHol: M)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OZ2Liodsl 20,0000+ 17H* 12U+ 128 48,960
OZ2l04b| 120,000 * 172492 18,360
203 2EZIH| 3,600 3,000 600
04 ENSYAREZAIH 3,600 3,000 600
ORNSZHRFEH| 300,000 %12 3,600
204 Z24 Y| 1,200 1,200 0
01 ZHZ AR 4B AH 1,200 1,200
ORI AR ABHHH| (L 01 ZHOH QI IHA)
100,000+ 18122 1,200




